

Average List of Regular Team Members

Men Division 1: Division1

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
6	Bernard Robert	206	14833	72	270	794	4	Richard Dupuis	172	12398	72	268	734
5	Andre Szilbereisz	200	14404	72	266	752	3	Pierre Jeannotte	171	11806	69	253	646
3	Richard McGarr	190	14318	75	279	681	2	Denis Beaudoin	171	11800	69	300	630
2	Luc Savoie	189	11939	63	258	701	4	Camille Paquette	165	11911	72	267	625
6	Yvon Dion	189	14204	75	245	665	5	Alfred Szilbereisz	163	10315	63	232	618
7	Camille Trudel	187	1684	9	231	575	1	Pierre Lamantia	157	11795	75	209	540
2	Denis Major	184	13312	72	258	721	2	Jacques Beaudoin	153	7237	47	240	632
8	Robert Major	182	13130	72	279	674	7	Paul Joly	141	10577	75	185	503
6	Guy Marcotte	180	11907	66	269	740	6	Gilbert Rouleau	139	9176	66	229	514
6	Michel Beauregard	180	12967	72	247	708	7	Leo Lemay	135	9653	71	204	498
8	Roger Beaupre	179	12919	72	268	650	1	Vito Dituri	130	9766	75	182	456

Women Division 1: Division1

Team	Name	Ave	Pins	Gms	High Game	High Sers	Team	Name	Ave	Pins	Gms	High Game	High Sers
5	Marjo Dero	219	13850	63	300	774	1	Mireille Gravel	149	11190	75	227	550
2	Denise Laviolette	193	9845	51	267	691	3	Lise Lachance	147	884	6	195	449
1	Ginette Belanger	171	9782	57	247	590	3	Diane Talon	146	6580	45	203	542
4	Celine Dupuis	171	12334	72	268	664	7	Helene Laflamme	146	8767	60	225	591
4	Lucette Aube	160	11055	69	235	564	4	Marleine Bigras	144	10854	75	231	594
8	Jeannine Beaupre	157	11794	75	241	564	5	Danielle Gauthier	143	7724	54	234	551
1	Anne McGarr	156	11757	75	211	573	1	Louise Raymond	140	8833	63	235	539
8	Francine Normandeau	156	10812	69	233	612	8	Lisette Lavoie	139	7956	57	230	558
5	Nicole Godbout	156	5158	33	234	616	3	Diane Riopel	137	8241	60	202	486
4	Celine Bonhomme	154	11618	75	225	553	6	Nicole Rouleau	136	9436	69	198	523
3	Therese Ravary	151	10015	66	220	574	8	Cornelia Adascalitei	135	9655	71	187	465
2	Francine Yale	151	9840	65	216	550	7	Linda Bonhomme	127	9171	72	197	522
5	Marie-Rose Dero	151	6798	45	211	564	7	Carolle Boulet	95	5430	57	144	367

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	7	PAUL JOLY	Paul Joly	163½	34½	831	17414	1270	3617
2	2	JACQUES BEAUDOIN	Jacques Beaudoin	145½	27	1041	17253	1218	3569
3	3	RICHARD MC GARR	Richard McGarr	119	27	942	17166	1266	3555
4	6	BERNARD ROBERT	Bernard Robert	114	27	1030	16791	1232	3513
5	1	LOUISE RAYMOND	Louise Raymond	111½	26	903	16791	1208	3453
6	4	MARLEINE BIGRAS	Marleine Bigras	105½	16½	966	16685	1181	3463
7	5	MARJO DEROY	Marjo Dero	83	18	1032	16682	1284	3585
8	8	JEANNINE BEAUPRE	Jeannine Beaupre	78	8	948	16276	1195	3479

Lane Assignments

	7-8	9-10	11-12	13-14
Today	2-5	8-3	1-7	6-4
Next Week	7-6	1-4	3-2	5-8

Last Week's Top Scores

Handicap Game	1257	PAUL JOLY	1232	BERNARD ROBERT	1218	JACQUES BEAUDOIN
Handicap Series	3580	PAUL JOLY	3569	JACQUES BEAUDOIN	3513	BERNARD ROBERT

Men	Scratch Game	235	Andre Szilbereisz	230	Luc Savoie	227	Yvon Dion
	Scratch Series	665	Yvon Dion	599	Andre Szilbereisz	595	Bernard Robert
	Handicap Game	235	Andre Szilbereisz	230	Luc Savoie	227	Yvon Dion
	Handicap Series	665	Yvon Dion	599	Andre Szilbereisz	595	Bernard Robert
Women	Scratch Game	232	Ginette Belanger	190	Celine Dupuis	188	Lucette Aube
	Scratch Series	570	Ginette Belanger	503	Marjo Dero	492	Francine Yale

Handicap Game	232	Ginette Belanger	190	Celine Dupuis	188	Lucette Aube
Handicap Series	570	Ginette Belanger	503	Marjo Dero	188	Marjo Dero
					492	Francine Yale

Season High Scores

Handicap Game	1284	MARJO DEROY	1270	PAUL JOLY	1266	RICHARD MC GARR	
Handicap Series	3617	PAUL JOLY	3585	MARJO DEROY	3569	JACQUES BEAUDOIN	
Men	Scratch Game	300	Denis Beaudoin	279	Richard McGarr	279	Robert Major
	Scratch Series	794	Bernard Robert	752	Andre Szilbereisz	740	Guy Marcotte
	Handicap Game	279	Richard McGarr	279	Robert Major	270	Bernard Robert
	Handicap Series	794	Bernard Robert	734	Richard Dupuis	721	Denis Major
Women	Scratch Game	300	Marjo Dero	268	Celine Dupuis	267	Denise Laviolette
	Scratch Series	774	Marjo Dero	691	Denise Laviolette	664	Celine Dupuis
	Handicap Game	288	Marjo Dero	267	Denise Laviolette	246	Celine Dupuis
	Handicap Series	774	Marjo Dero	624	Denise Laviolette	623	Celine Dupuis

Team Rosters

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
1 - LOUISE RAYMOND									
Louise Raymond	8833	63	140	124	111	136	371	136 - 141=-5	371 - 423=-52
Mireille Gravel	11190	75	149	119	123	109	351	123 - 150=-27	351 - 450=-99
Ginette Belanger	9782	57	171	180	158	232	570	232 - 170=62	570 - 510=60
Vito Dituri	9766	75	130	155	182	105	442	182 - 129=53	442 - 387=55
Pierre Lamantia	11795	75	157	141	120	135	396	141 - 158=-17	396 - 474=-78
Anne McGarr	11757	75	156	163	133	122	418	163 - 157=6	418 - 471=-53
2 - JACQUES BEAUDOIN									
Francine Yale	9840	65	151	172	168	152	492	172 - 150=22	492 - 450=42
Jacques Beaudoin	7237	47	153	a153	a153	a153	459		
Denis Beaudoin	11800	69	171	128	154	186	468	186 - 171=15	468 - 513=-45
Denis Major	13312	72	184	131	196	191	518	196 - 185=11	518 - 555=-37
Luc Savoie	11939	63	189	230	162	184	576	230 - 189=41	576 - 567=9
Denise Laviolette	9845	51	193	a193	a193	a193	579		
3 - RICHARD MC GARR									
Lise Lachance	884	6	147	151	151	147	449	151 - 145=6	449 - 435=14
Diane Talon	6580	45	146	173	146	105	424	173 - 146=27	424 - 438=-14
Diane Riopel	8241	60	137	145	115	132	392	145 - 137=8	392 - 411=-19
Therese Ravary	10015	66	151	128	142	137	407	142 - 152=-10	407 - 456=-49
Pierre Jeannotte	11806	69	171	155	165	160	480	165 - 171=-6	480 - 513=-33
Richard McGarr	14318	75	190	186	162	208	556	208 - 191=17	556 - 573=-17
4 - MARLEINE BIGRAS									
Marleine Bigras	10854	75	144	111	93	108	312	111 - 146=-35	312 - 438=-126
Lucette Aube	11055	69	160	188	141	161	490	188 - 160=28	490 - 480=10
Camille Paquette	11911	72	165	138	179	120	437	179 - 166=13	437 - 498=-61
Celine Dupuis	12334	72	171	150	190	118	458	190 - 172=18	458 - 516=-58
Celine Bonhomme	11618	75	154	145	133	159	437	159 - 155=4	437 - 465=-28
Richard Dupuis	12398	72	172	166	153	161	480	166 - 172=-6	480 - 516=-36
5 - MARJO DEROY									
Marie-Rose Deroy	6798	45	151	180	115	103	398	180 - 152=28	398 - 456=-58
Nicole Godbout	5158	33	156	a156	a156	a156	468		
Danielle Gauthier	7724	54	143	169	129	134	432	169 - 142=27	432 - 426=6
Marjo Deroy	13850	63	219	162	188	153	503	188 - 222=-34	503 - 666=-163
Alfred Szilbereisz	10315	63	163	142	180	155	477	180 - 163=17	477 - 489=-12
Andre Szilbereisz	14404	72	200	195	235	169	599	235 - 200=35	599 - 600=-1
6 - BERNARD ROBERT									
Michel Beauregard	12967	72	180	167	145	138	450	167 - 181=-14	450 - 543=-93
Nicole Rouleau	9436	69	136	126	108	139	373	139 - 137=2	373 - 411=-38
Gilbert Rouleau	9176	66	139	97	109	177	383	177 - 139=38	383 - 417=-34
Guy Marcotte	11907	66	180	a180	a180	a180	540		
Yvon Dion	14204	75	189	212	227	226	665	227 - 188=39	665 - 564=101
Bernard Robert	14833	72	206	197	195	203	595	203 - 206=-3	595 - 618=-23
7 - PAUL JOLY									
Carolle Boulet	5430	57	95	115	122	106	343	122 - 94=28	343 - 282=61
Helene Laflamme	8767	60	146	105	131	103	339	131 - 147=-16	339 - 441=-102
Linda Bonhomme	9171	72	127	94	128	145	367	145 - 127=18	367 - 381=-14
Camille Trudel	1684	9	187	152	181	221	554	221 - 188=33	554 - 564=-10
Leo Lemay	9653	71	135	126	138	151	415	151 - 135=16	415 - 405=10
Paul Joly	10577	75	141	166	127	162	455	166 - 140=26	455 - 420=35

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
8 - JEANNINE BEAUPRE									
Francine Normandeau	10812	69	156	127	154	133	414	154 - 157=-3	414 - 471=-57
Lisette Lavoie	7956	57	139	97	89	154	340	154 - 141=13	340 - 423=-83
Cornelia Adascalitei	9655	71	135	113	132	140	385	140 - 136=4	385 - 408=-23
Jeannine Beaupre	11794	75	157	170	141	151	462	170 - 157=13	462 - 471=-9
Robert Major	13130	72	182	139	119	127	385	139 - 184=-45	385 - 552=-167
Roger Beaupre	12919	72	179	157	145	170	472	170 - 180=-10	472 - 540=-68